

Mrs Patel, adapted from The Numeracy File, M. Askew and S. Ebbutt Pub. BEAM, by Michael Hall, The Open University

Problem:


How much change does


 Mrs Patel get?





Clue: A sandwich costs £1.70 





Problem:


How much change does 


Mrs Patel get?





Clue: A milkshake costs 


65p 





Problem:


How much change does 


Mrs Patel get?





Clue: Mrs Patel buys three sandwiches 








Problem:


How much change does 


Mrs Patel get?





Clue: Mrs Patel has a £10 note in her purse 








